M:thin English Brain Teasers level 3 #22

What top number completes this domino pattern ?
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What is the missing number ? What is the value of the
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2 (7) 9
1 (D) 6
2 (4) 8
1 (2) 4
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M:thin English Brain Teasers level 3 #22

Answer to brain teasers

puzzlel: 5
The dominoes show all the even numbers that can be made.

puzzle2: H
The letter and numbers in the 3rd star are the sum of those in the

Ist and 2nd.

puzzle3: 6
Add 1 to the numbers to get the letter values in the 1st block.

puzzle4: 8
Divide the number formed by the 1st 2 digits by 3 to get the 3rd.
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